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warm up
Find the trig ratio for the following:
1. sinZ 2. cosz 3. cscZ
3 4 6
4. tan30° 5. sec45° 6. cot45°

Find 6 in degrees.
: 1 2 .
7. sm(9:E LT(SD) 3660 8. cscﬁ—ﬁ <OO

9. c0t9:\/§ 10. cosH:%

30° LO® 300°
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Workbook Answers
1. 7.73 rad/min
3. 1441.94 rev/min

S5a. 5.28 cm/sec
Sb. 8.73 cm/sec
7. 17.45 ft/sec

9. 17222.54 mph

January 22, 2018

2. 12.99 rad/sec
4a. 14.29 m/sec
4b. 211.6 cm/sec
6. 104.72 rad/sec

8. fastest - outside
10. 728.29 rev/min
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4.4 Trig Functions of any angle Day 1
T

trig ratios for angles > 90 or 5

ASTC
Quadrant values

What quadrant am | in?



4.4 Day 1.notebook January 22, 2018

So far we have talked only about trig ratios of
acute angles. What if the angle | want to
evaluate is obtuse?

AY

Remember that on the

M unit circle
) s

o
¢ o t -

a (X, y) = (cosg, sing)
= (adj side, opp side)
C o _ L
0360°- 5

——

|
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Example: Let (5, -12) be a point on the
terminal side of angle g, find sing, cosg, tan g

Step 1: Draw a triangle
Step 2: Find the third side
Step 3. Find the ratios « 55 .
SInNe = 1L 12\ |71~
|3 |
Cose =59
13

tang--13
N
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ASTC

(X, y) = (cos g, sing) 6 A

= (adj side, opp side)
sin
9 tan g | C

ALL trig rohos are Dosifve
3N mh@ 1S PoSitwe
tan raho (s DOS e
COS ratlo s POS e
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Remember:
(x,y) = (cosg, sing)

= (ad] side, opp side)
opp _ sin6
adj " cosf

and tané =

January 22, 2018

(-1, 0)

(0,-1)
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0, 960 or 90 or /2 | 180 or T 270 or

0, 2m 311/2
sin © (9/{:@\/!—_ | 19,= O —I/}:,}
cos8 |I/ =] 1°=0=-\°=0
tane °/, = O |'fo=und|%-1= 0] fo=und
csc® |Yo=und|i= | |Yozund]'f1=-)
e |1, = | [lo=und' 1= -\ [lo =und
cot® |'/o=und|®l = O ["omund®f-1= O

siNTt = LfL

(1,0)

C3CTY = h

J

—
—

\
il
0
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What quadrant am | in??
sinf>0 tanf>0 Q| @@
cosd<0 sinf<0 Q%

secd<0 cotd<0
Quck B WA
o

=

——
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find the remaining 5 trig ratios (values) given:

sinH:—%, cosf <0 %
I

COS@’_‘}/S

_3 B

2 + b
-%V an o= /3
(SCO - ’5/_7

10
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Homework

€S-
0 294 o\rrpvm

1-21 odd, 29-36 all

Optional Quiz Review

p 265

1-19 odd, 23-73 odd, 77, 78, 96-100
p 284

1-4, 9-33, 57-66, 78, 79
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11
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